
63 : 7 9 * 79 * 4
19 – 8 17 + 4

9 * 2 42 : 7 32 : 8
9 * 6 9 : 3

15 + 4
9 * 8 4 + 9 9 * 9

9 * 5
54 : 6 35 : 7



сказка15 : 3 16 : 4 9 
* 2
5 * 4 3 * 5

18 : 2
20 : 5 4 * 4
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Делимое 8 24 45

Делител
ь 2 2 3 5

Частное 8 3 9



Иван-царевич 
победил трёх Змеев 

Горынычей,
 у которых по 4 

головы у каждого, и 
двух Змеев 
Горынычей, 

по 3 головы у 
каждого. Сколько 

всего голов было у 
Змеев Горынычей?



20 яблок Елена 
Прекрасная 

разложила на 4 
волшебные 

тарелки 
поровну. 

Сколько ей 
потребовалось 

тарелок?



63 : 7 9 * 79 * 4
19 – 8 17 + 4

9 * 2 42 : 7 32 : 8
9 * 6 9 : 3

15 + 4
9 * 8 4 + 9 9 * 9

9 * 5
54 : 6 35 : 7



Домашнее задание

С. 90 № 2, 3, 5 (1, 2)


